



계산을 하세요

$$\textcircled{1} 335 - (6 \times 8 + 181) = 106$$

$$\textcircled{8} (28 - 11) \times 3 =$$

$$\textcircled{2} 132 - (15 + 7 \times 8) =$$

$$\textcircled{9} (69 - 6 \times 3) \times 2 =$$

$$\textcircled{3} (11 + 13) \times 3 \times 3 =$$

$$\textcircled{10} 161 - (19 + 8 \times 5) =$$

$$\textcircled{4} (23 - 18) \times 6 + 27 =$$

$$\textcircled{11} 457 - (6 \times 7 + 106) =$$

$$\textcircled{5} (14 - 10) \times 2 =$$

$$\textcircled{12} (15 - 10) \times 4 =$$

$$\textcircled{6} (11 + 14) \times 2 \times 3 =$$

$$\textcircled{13} (18 + 12) \times 5 - 91 =$$

$$\textcircled{7} 7 \times (13 - 4) \times (4 + 7) =$$

$$\textcircled{14} 6 \times (46 - 11 - 22) =$$